E%@!gﬁg AT TR 9 T A (5 AU R A BN R e |
- BT BAARDL - c WUERAREIREER, AaA AL, I A
SRR K B 2 B B B, AT © U RRHER RS (HEMBT AR o ERLS

(HRE Il FRATE & ZE RIS BE AR . AT AR Z B B IE R ! . IANMINICOMB 'S5%5 8 /19725 30x30
i N 7 B E B I AR AT c HIRIE LA BRI EAZ oA BEREL HIRS A

B TR BB AR EAE R E S5 A I3 5 i o URAZPE ORI E AT AR, B ST R o 24 i (U IRIRIER: / CNOMO)
S8BT U 2 5 i ATBVGAE . 10 A Sk 1 2 A3 c IAORIE (IR

FA A= it H S B B 7 ARk P bR A0 B AR A T

W RR AR BRI NI 7 o

CHEMSEAL, DIMIO, INDUSENS, INDUSWITCH, INTELLICOMB, MA-  i&ik, JFotsiis®
NOCOMB, MINTCOMB JEPINTER i 54545 R A PR & LA/ . W IAE R AT IR, BT TR A/ BB E e 1 2 kg

LA P U B 1

o e . sl TR E L BRE bR/ El Ol 5 A A Al Y R A B A E ke
BRI ?ﬁ%ﬁ%@gk GBI R RE WA . IR AR R R, R L () 7 JRAR C0011F-199-PAO
Operating Instructions HEAT AN/ SIZED T gk .
P 9 ;ﬁﬁﬂ@%@?yﬂﬁﬂ@ﬂﬁu TR 22 B #7717 P 460 5 i o MEESIEC SRR E S, W AL () § AR CO011F-199-CAO
. T VR 5 S1998
el I B o BRI AT IR I
BB )% 30%30 o BTSSR B AR R T R (T - Y CO051F-1994A0
Compact Pressure Switch 30x30 s s JFPRAWMAT LIS AT I AT E - P G1/4 :
iﬁ;;i%ﬁrﬁﬁa‘é A S L . THER, JFIC A IR H R 15 E T BERZ I B & T B K 22 0 =
%5 i A IR , W < R SR AR iR ' ; C0011F-199-PDO
PRI R EE R GF R 50D il —ANMushF S IR
K R IF IR Fe —iEH HE 5. i = MR e
AR R HILHA U FEPINTERA B . & | ovowo COOTIF-199-CR0
e o AR PURE T ROGE T O A R o SIT  T K BR = o
ST g 3 :ﬁ;a: ), t R ) i 3 CI:%': s ! ¥4
! L T S T 7 FANIEE o D208 8 750 S s o 1 033 77 G1/4£1 C0051F-199-4DO
7 i R BER] R AV B R R A
AR, R/ B/ TR (NBRD /AR PR, g abE o | et C0011F-300-PAO
(FKMD) TTHE) st (IR, ARkl o R ENE R DL L % 3
B, RS/ A 5845 (NBR) [ (FKM) . <2 Ay B e i 52 R - y
f; %gﬂ/ St/ TR e /R I 75 2 ) AL 1 5 T 1 % MRS 5| 3 g %ﬁx C0051F-300-4A0
%77 i P BEAE BOR KO 22 1 Bl 1) AR S AR A0 A <
REAIUEGH A s o | bk C0011F-300-PDO
i%f@Iaﬁ&%%miﬁém#%fi%ﬁ%, 0% % " X
AT o 5 | e C0051F-300-4DO
b, T R RO B A ] [ A BT LR A AT R G1/4 hiae
SE L AR 2 R e, LRSI E KA
MR AR AT I =) AR C0011F-301-PAO
TEFERIRAIL T, AR BRI AR LG . 2 3
MIAENGZATE SRR T B G . A EAEZ =
(0% LR ) T 8|3 T BRI
(XA AN HEAT e R | +
BT TRHZ5 Sh A FUAE B AR N A Bl o JEAR 4% C0011F-301-PDO
TEEWHEARN G FIEB 2 T e 2N ST = 5
Bl TABAR AN GRIR: ST AL = P HRLL
B RIS, R IHATEHLE IR, AR = | an BT
AR TAEREAT VAL . R T REM k. JF FLAE

REEIE M At . A MbH AR N G0 5 455
BRIl R o 38 16 T T R T T A A T

EEsR HAR K
S A NI e LG DA [T Y
& SO P 6 Bt b s N WAL DAL HUBREE 05T 5%
Ao HIRREAR ST EN . I, LR Tk TR R G
FREEAE TS, — BB B B i B Is Al LU TR AR %
FEEr N B AR A TS 1 0 0 3 3 PR o T 5 o
B GaiETY b —TF RN
wg ‘ ’(fggf":%) 0,2 - 16 bar
o IR AL L A, R LR A R AR BEE R L g
PINTER Mess- und Regeltechnik GmbH AN, TR 2 R FLA K [rp—
Kraichgaublick 17 . T 4 R 22 [ 1 =50 ~ o
Technologi Kk Neckartal-Od Id A iz,:\‘\l I I 2L ] e N - 0,9 = 0 bar
4647 Obrighoim Cormany SR AT IR I LA R o A (B E )
AR 2 BT % SR 2R s s 240, AT RE (S T A/ 2073 5
Phone +49-6262-92670-0 I e o -0,9...+1 bar
Fax +49-6262-92670-99 (5% Y )
E-Mail info@pinter-gmbh.de .
Internet www.pinter-gmbh.com A 25 bar
HEZE =1 bar
M RIS IS0 4400 R S RS2 bR R L £
o - . : » , e Rl B, B0, TR (D
i " J::l s i iRy
H ) ' M= 0.4 +0.1Nm YT — ﬁﬁ;ﬂ/‘j
ol e A . _ o
E ‘P/ ;%g \ i 10...+80° C
] i 6 ¢ | ’ §ﬁ$!§ i sy
E | |$ : 3 gm0 o | 9 K | -20...+80° C
oot ‘ ' ' ® 9 e 19 PRECIR
25x15 o's3 Eﬁ&ﬁﬁmx“ ‘ A% M5X35 Ve -
i R e e ;;MM %;L Z51% 43 20° C
TF Bl L AMUEhTFR BEHTTR)
JEMRERE CNOMO Ak 1SO 4400 JEHRESE CNOMO Fl#E SM12
FERAMS L < 1,0% FS
M1Sx1{
0 7 ﬁ e ts5s ALK <1,0% FS
o1 x—é+ ‘ 7@ )
J 5 @7@W D ' | A R e 14 f§é§§ <1,0% FS
st @ R (.
e‘f " %I(% ! ! $ I$ 22 E | £ 73 B TI0 DN T EEREM ’Eﬁ%ggg%’
w0z 4% s p i, 530" NS N i CNOMO ;
s I J‘R{ i = o9 e B8 (FT3%) IR G1/4;
L ([FN)I%#%MSX"L’: * ,Zﬂ_m_‘ ﬂéL [EHE 3k 4 £ M5x35 :
= e e vam a0 Hisk EN175 301-803-A
M= 2,5 405 Nm 35 Mk 2505 Nm =5
aw ?;Imif)%ﬁ (IS0 4400) ;
sk M12x1
WIZZC 61/4 FHRSLISO 4400 WIELL G1/4 AR W12
nin) MBS | 90" HE #7160 9
- %5 IR M3XIS f @
Jj—L R = S0 Jo ke 1P65
D | B @@@ Y i o LI .4 DIE R (FEFAM12 43k 1P6T )
I '\é=£7 D AR A \‘\ i ?‘9/ e -
E : =% | | T 52 52 15 g (IEC 60068-2-64)
. P g__ . ? ? 9 by E (XYZ-J7 1)) g
il . 1 @ | | ;} = RIRN w0
" | . - I 3 LN T
e pw T Tews g T PuARBh 10 g (60 - 500 Hz)
. Lt P Q/ . P T R %Hp (Y27 1) (IEC 60068-2-6)
30203 M= 12+1Nm 003 w T N i 0
435 = M= 12+1Nm
#) 80 # 59 ]
A TERARE TF R TR E
PR AT HARES e K F VPRSI T max [A] , AURGUER SR POV R IR T max [A] . HEBHARER
N N TR IR/ 455
fiisk 1S0 4400 ik Mi2x1 uvi | 3ov | 4sv | eov | 125v | 250v urvi | 3ov | 48v | eov [ 125v | 250v
IAJAC | 3 3 3 3 3 IAIAC | 5 3 5 5 5 (7o)
& B Ak B Sk -®+
1S0 4400 150 4400
3 @ ﬂ@ iAaDc | 2 |os55 | 04 |015] - ifaloc | 3 | 12 | 08 | 04 |
Y IAIAC | 3 IAJAC | 4
FE g s 4 Sk FHE g Al 4 Sk bie=v )i
Mi2x1 M12x1
o o Ifaloc | 2 IfAloc | 3
1504400 MI2x1
FEREIF 2% 30/min
+UB 1 1 LEHRIRE . +30° C LEHETFRH: 30/min
AC = cos phi %) 0.7° LERRERE: +30° C
7 2 2 DC = L/R ) 10ms
TEHTFR
FS 3 4
GND 4




Any given information and/or technical data in this
document have been prepared very carefully and
reflect the state of the art when printed. Information

The intended use also includes that you have read and under-
stood these instructions.

Scope of delivery
The scope of delivery includes:

Technical Data

mechanical pressure switch;

and/or technical data may change without prior notice. Installation . 1x MINICOMB compact pressure switch 30x30 Function force-balance measuring sys-

All given information and/or technical data in this document . Let the product acclimatize for several hours before ins- . 1x connector depending on version tem with bellows sensor

are not binding and for information purposes only. Binding in- tallation and commissioning, as otherwise condensation . 2x fixing screws (only sub-base mounting / CNOMO)

formation and/or technical data can be obtained from our quo- water can form in the housing. . 1x O-Ring (only sub-base mounting) Life Cycle at least 10 mio switch cycles

tations and/or order confirmations. . Install and fasten the product according to the pictures. . 1x operating instructions

Please understand that we cannot be held responsible for the . If the product is not properly fastened, other plant parts Pressure Range 0,2 - 16 bar

correctness of any given information and/or technical data in may be damaged by uncontrolled movements of the pro-

this document. duct, as well as personal injuries may occur. Make sure Versions Vacuum Range -0,9 - 0 bar

All mentioned product names, product designations, pro- that the product is securely fastened.

duct descriptions and logos are trademarks and property of Sub-base CO0011F-199-PAO Pressure-/Vacuum -0,9...+1 bar

their respective owners. CHEMSEAL, DIMIO, INDUSENS, Electrical connection mounting R

INDUSWITCH, INTELLICOMB, MANOCOMB, MINICOMB . Route cables so that nobody can trip over them. = Overpressure Safet 25 bar

are trademarks and/or registered trademarks of the PINTER «  Only use harmonized (color-coded or number) cables. S | Sub-base moun- T e R erpressure saiety 2

Mess- und Regeltechnik GmbH and/or their affiliated com- Make sure of the correct connection of the cables! o ting CNOMO v Saf )

S ) . . . %) ‘acuum Safety 1 bar

panies in Germany, the European Union, Switzerland and/or . Connect the product accurding to the pictures. =

other countries. . If the product is not properly connected electrically, the g Female thread C0051F-199-4A0 Enclosure Material Aluminium

Reproduction and / or duplication of this manual or any portion protection type can not be guaranteed. Make sure the 5 G1/4

of this manual is prohibited without permission. plug is securely connected. 5 . Aluminium, Brass, NBR

Sample configurations are shown on the title page, hence the N Sub-be}se C0011F-199-PDO Wetted Parts Material (Gasket)

delivered product may differ from the depicted products. Commissioning, Set point adjustment e mounting

This document was originally issued in German language. . Before starting make sure that all gaskets and seals and - Permissalbe Media 10..4+80°C

screwed connections are installed correctly. & Sub-base moun- C0011F-199-CDO Temperature

Product description . Adjust the setpoint to a higher pressure by turning the s ting CNOMO

The product is a pressure switch, which can be used in pres- knob in (+) direction. Permissable Ambient -20..+80°C

sure pipes for the measurement of compressed air and non- . Adjust the setpoint to a lower pressure by turning the Female thread C0051F-199-4DO Temperature

aggressive gases. The set pressure value (switching point) is knob in (-) direction. G1/4

transfoned into an electrical binary signal with an implemented . The set point can be read on the set point scale. Temperature Deviation approx. 1% per 20°C

micro-switch (SPDT) . «  Check the switch point with an external reference S Sub-base C0011F-300-PAO — : :

measuring device (e.g. precision gauge). 3 mounting Switching Contact 1 micro switch (SPDT)

Intended use . The switching point can also be adjusted during opera- o .

«  Only use the product in industrial applications. tion. 3 %) g‘i’;f'e thread C0051F-300-4A0 Switching Accuracy <1,0%FS

. Only use the product with the media compressed air or . Note that a switch point adjustment can affect the safe o Repeatabilit <1.0% FS

) ; X . . 1 peatability <1,0%
gas (not aggressive, compatible with aluminum / brass operation of the system! o Sub-base
/ NBR / FKM) or liquids (non-aggressive, non-viscous, =) - : C0011F-300-PDO Switching Differential
. : : . . mounting witching <1.0% FS
compatible with aIummu_ml/ brass / NB_R /‘FKM). . During operation & (Hysteresis) =1,

: Only use the product within the specifications set out in . The product is maintenance free. In case of technical s Female thread

the operating conditions and limitations. problems, please contact PINTER. G1/4 C0051F-300-4DO ) sub-base mounting;
i ' . . Process Connection .

: Please also note the guidance of other system compo- . Clean the product with a slightly damp cloth only. Use lternativel sub-base mounting CNOMO;
nents, including the system documentation of the ma- water and if necessary a mild detergent. Never use sol- Sub-base (EHEENTE) 1/4* female 1SO 228 thread;
nufacturer. vents or abrasive cleaners or aggressive cleaners. S mounting C0011F-301-PAO

. Please also note generally applicable statutory and other i Electrical Connection Stecker EN175 301-803-A
binding regulations of the European and national legisla- i i f o ;
tion ar?d rtggulations in your coSntry for accident prgven- Dlsm%l-mtmg, Disposal ) & 8 DL C0051F-301-4A0 (alternatively) St(lsko 4;\‘/IO102)Y 1
; - ; . ismount the product according to the steps above. G1/4 ecker X
tion and environmental protection. ) . Dispose of the device according to the regulations of Y

. Prevent mechanical loads on the device under any cir- your country. - Sulsdbee Weight approx. 160 g
cumstances. Never use the device as a handle or shoul- =) - mounting C0011F-301-PDO
der. Do not place objects on it. & Protection IP65 (IP67 mit M12 Stecker)

. You must not make alterations or modifications to the s
device! = | Femalethread | coos1F-301-4D0 Schock Resistance s

s ) o g (IEC 60068-2-64)

. All activities with the product may only be performed by (XYZ-Direction)

a specialist or by a trained person under the supervision - )

of a specialist. A specialist is someone who based on Vibration Resistance 10 g (60 - 500 Hz)
their technical training, knowledge and experience and (XYZ-Direction) (IEC 60068-2-6)
his knowledge of the relevant provisions of his assigned

job is able to identify potential hazards and take approp-

riate safety measures. A specialist must comply with the

relevant subject-specific rules. Note that there may addi-

tional requirements in the country of use.

. Always turn off pressure and power of the relevant part

of the facility before mounting the unit or unplug or plug.
Secure the part from re-powering or re-pressuring. Du-
ring installation hang out warning signs that warn from
re-powering or re-pressuring.
sub-base mounting and plug ISO 4400 sub-base mounting and plug M12x1
m M16x1,5
en f 7D e [
D] e M= 0.4 +0.1Nm m ; i ‘
2 o (- A-coded |
S| LIRS 3 i | %
Sl ) N E PP
Fpedt = ol | |1 y
SR (P | e sl H Fe: B & Bl 9
@5x15 |__30:05 30:035 | o'g8 ?&/L)SS[EVSVAWX% [ o R
435 locking torque 0-Ring”| ™ = 0O-Ring countersink g oYl screw M5x3s
Ma=25 0atim kg o
Moz 250 N

sub-base mounting CNOMO and plug ISO 4400

sub-base mounting CNOMO and plug M12x1

M16x1,5

e

B

T

—6r

osies
|

8
g
8
ko

05

cyl. screw M5x35

ca8o (2x) DIN84

locking torque
=25%05Nm

central screw M3x35 |
locking torque
Mo

NEY
o
Tlewrm

A-coded
g
7 7
2 3 plug insert 4w
90° tumable,
7 ==3 @ ‘$ locking each 30° @ l $
2
JV cyl. screw M5x35
30:05 |08  (2)DINe4

55 locking torque

ca’59

=25:05Nm

1/4" female 1ISO 228 thread mounting and plug ISO 4400

1/4" female 1SO 228 thread mounting and plug M12x1

M16x1,5

‘Em N

| |54z

‘4. 205
Q:%{ =
B/aa\
sealing surface

/4" female thread ISO 228, ‘ Ry 24 ym
tap deptn 9 +1
30203

43,5

15303
4 %), —_
—

20102

30103

locking torque
My=12+1Nm

central screw M3x35

locking torque
Ma=0, im

@
&

54.02

S
L
\
-1——C)

20102

oo
Sl
SQ,
@ L
S

o
)
e
7

Y’ lock position

R plug insert

90° turable, S
locking each 30° |

sealing surface

locking torque
M= 12+1Nm

Electrical Connection
shown in zero pressure condition

Switching Capacity
max. steady current | max [A] on inductive load

Switching Capacity
max. steady current | max [A] on ohmic load

plug ISO 4400 plug M12x1

N
s © [
2

plug plug
1SO4400 M12x1
+UB 1 1
normally closed 2 2
micro switch
normally open 6 4
GND 4

Set point adjustment

Set point adjustment screw / knob

Set point scale

U V] 30V | 48V | 60V | 125V | 250V U [v] 30V | 48V | 60V | 125V | 250V
I [A]JAC 8 ) 3 3 3 I [A]JAC 5 3 5 5 5
version with version with
plug 1SO4400 plug 1ISO4400
I[A]DC 2 055 | 04 | 015 I[A]DC 3 1,2 0,8 0,4 -
I [A]JAC 3 I [AJAC 4
version with version with
plug M12x1 plug M12x1
I[A]DC 2 I[A]DC 3
reference switch cycle: 30/min
reference temperature: +30°C reference switch cycle: 30/min
AC = cos phi ca. 0,7° reference temperature: +30°C
DC = L/R ca 10ms




